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Note: Write answers to the questions on objective answer sheet provided. Four possible answers A
B, C & D to each question are given. Which answer you consider correct, fil| the
. corresponding circle A, B, C or D given in front of each question with Marker or pen ink op

the answer sheet provided.
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The loan providing institution to correct the balance of payment is:’

World Bank & 403 (B) . Islamic Bank L1k (A)
Asian Bank _& (L2 (D) C LMF B Wit ©)

The most important source of reveﬁue (;f govt. is: 'Ig.g’zjfz;.-,-r’b/a.&ny;‘ -2
Fines 4_t.2 (D) Local Rates e85 (C) Taxes Jg (B) Pee (A)

e b SebiectiiFerb bbbt P

The cannon of taxation in which the govt bear very small cost of collection:

Cannon of economy .:.,;L;JU,JI (B) Cannon of equality ._,!;l/dr’! (A)
* Cannon of Productivity EMle Ul (D) Cannon of elastlctty dxuﬁ()ﬂl ©)
The time deposits are called: U'GMU“UU"W 4y
Paper money JJS%¥ (B) | Metalallic money +J(b»s (A)
Legal moeny 13356 (D) , Near money 4§/ (C) °
International economic recession occurred in: ' :'”{%C}.JUV‘-L?VJU 5
1976 (D) 1990 (C) 1930 (B) 1945 (A)
To increase profit a firm tries to minimize: -98/J’IJL/{¢;KY(/4.LL.VZC‘J’V .
7 . Supply +#~ (D) Demand ¥ (C) " Cost =1 (B) Pevenub i ()
The economic laws are: , t Z_xcfl;tfb‘ 1
Quantitative $,/4* (D) Conditional L:;‘ (©) . Permanent Jf (B) Exact d‘g (A)
When marginal utility is zero, the total utility is: Ct'!‘ublg){jc.t'n/‘ubf({r’ -8
Negative J/ (D) Zero A#(C)  Minimum [;H/ (B) Maximum sskic»bi (A)
Elasticity of demand of ____salt is more than unity, ,égm,b,._tjy,_glf_rﬁ‘; ........... 9
Flour £ (D) Car /¥ (C) Ghee (f ®) salt 'ﬁ@/
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4 ;hc clasticity of perishable goods is: , ' —q_aﬂyjd',?f{#a? -10
Greater than unity sl (K1 (B) . Zero H (A)
, Infinite 1.1 (D) Less than unity [c.-l.jb/' ©

when AC curve “ ﬁoing down, the MC curve is::.;_bﬂBb’J)W?‘?in}zg{,Bb'JJWkﬂ?’. -11
Horizontal (¢ (D) Parallel (Ji1# (C) Befow ?L_ (B) Above 4’,1 (A)

The demand of l'ﬁctors of production is: :q_JxJJkﬂ&déb -12
Negative ¢~ (D) Positive =% (C) Indirect £-17L (B) Direct =wlsslz (A)
Transfer payments include: ' ;“-_JL:‘;ugl,fdti’l -13

Rent of land K25 (D) Car fare /KK (C)House rent ,_.,l/ K€ (B) Stipend /61 (A)
The rising trend of prices is called: e t(!l‘@lf-;ﬁa.zﬁu}?? -14
| Deflation .k ¥ (B) ~ Inflation sl (A)
Quantity of money .Jj/Lé* (D) Velocity of money /JJ‘J/ (C)
The sun spot theory was presented by: : !l;@?ﬁgf‘.b’u}.‘:(éaf -15
Ricardo i_s3,6, (B) . . Adam Smith L #741 (A)
Robbins &_ 7 (D) | W.S Jevons 252 Pixk3 (C)

A 8 C 7] B 6] B 5] B 4] B 3] B 2] C -I
C 15| A -14] A -13| B -12|] B -11| A -10] D -9
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Write short Answers of any six parts from the following. .
Give definition of economics by Robbins. -gfuyu.nga?PJ/J (i)
s . § . 2 .
U Bl Etbnsing e bbb i SANL gUIE e P fie e Lo2L #) R
B S e b S
According to Robbins, economics is a science that studies the behaviour of human beings which they

adopt when fulfilling unlimited desires through finite means while the means have defipite uses.

What is meant by scarce resources? S'«j;-‘"/l..ft-'-— Uil (ii)

- M A ’ . . P> | < . @ e .
L LU S Gt beodl e eatpedpm QT NG EL o e pst e O )L il
- . weo i % N A « ’
g PEC Ly g s S PO - L el YinASull Ll Lo Jos SiL
' oo » J - ' . - -
-.Lt"/_L'/Jl-“"/;{u;rl(d‘u;..ﬁé_,‘('/.y_’:c:;t::lf
Scarce resources means that human resources, i.e., income and wealth are less than as compare to

desires. Similarly, the total resources of a country are less than the needs of the people of that
country. Therefore, every human being individually and the whole country collectively has to use the

resources wisely to fulfil their desires. . )
Define total utility. -‘E-{-—é’/"(.;“mlf (iii)
-uj&"fnﬁlj:::.f?;_t‘::J"’bub";?.:_."_/:JL&UEE”(L?JE_Q’" Sl
The utility obtained by using all the units of an item is called total benefit. .
Define consumer behaviour. | “Zfbé)f‘f‘s/bd’/ (iv)
..hgt'@_l:)((.'b/J/D:’:J:(f}(,((L/JJL’nG’uL)‘;_u&))L/JJL,u)!;L_;JL, el

Ihigmsumcr attempts to achcive equilibrium (maximize utility) are called consumer behaviour.
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Write the names of methods of measuring clasticity of demand.

L iLu UL 3 areiS 2 a6 BALY BJJ o
Methods of measuring clasliciiy of demand:
1. Percentage Method 2. Total Outlay Method 3. By Mathematical Formulas

Define demand. 'é /U*'L (vi)
Lal '( sty J{»i._::dtLJ/DLLL['J!&LJ’:’J'ALLJS/;J

Demands refers to a desire for enmclhmg that the consumer has the purchasing power to fulf‘ll is
called demand.

Define supply. "{"‘"f o (vii)
.¢dLlﬁnra..bL,(J'gﬂdMA.LQ/JJMJ(U.J’J&"'””JLJ/‘”J R

Supply refers to the quantity of an item that is.offered in the market to be sold at a certain pricc at 5
given time is called supply.

What is meant by extension of supply? ' ?‘-’/u,"’u'l&”‘ (viii)
-u‘JL&{E’MJ@'«@GW;/#JJJULUJ/J Jéﬂf:'"—”d/‘"fu"ﬁ AR

According to law of supply when the price of an item mcreascs its supply increases, and this js
called extension of supply.

..u‘fu' u‘J (‘/»Jovlfﬁgbc..&ln/m (ix)

Give two examples of perishable goods from practical life.
1. Milk 2. Fruit J"' 2 oweliok

6x2=12 - _é/jutli/jﬁl]lic..dilc'gﬂd}bJ: 3l

Write short Answers of any six parts from the following:

What is meant by average fixed costs of production? fes /lfc_u" g dsizoebl (i)
.»‘db fdj ';‘y._uw..w»ﬂ/;)’d:v u‘L.:‘J"’bcL.f(J/ﬁﬂy Jf._uw,w‘){._»w.ww o 4
. Y Py
Sz U GE S\t zeb

= oyl
J’JL‘/;}

The average fixed costs are obtained by dividing the total fixed costs by thc total output. These are
basically the fixed costs per unit of production.

Formula of average fixed costs: Average fixed costs = Total fixed costs

Total production
What is meant by average revenue of firm? . S‘.»_,/Lf;,df,y,llfrj..f (n)
(dﬁfcl_l.d_/r)”a.lc. drd‘bdmd&-n;ws/djl,w dlfr/&},_-_ fj,,,,g/c_ d,l,},,,l

b K i b=/

dr";

=494 sl
uv Kliijuuv

Average revenue refers to the amount that a firm reccives per unit on average from the sale of its
production divided by the total revenue by the units of production sold.

Average recovery = '1 otal recovery
Units of production
Prepare the schedulc of law of constant returns., -éﬁufrfbﬂ"bdb(u)s (iii)
3 U1
S, ez o e Szse of

"Marginal production Total production Variable factor | Fixed factor production
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i obtained. Net national product = Gross national product —

| i { g PSR S SRR\ ST A Ee i e [N BN sl } 5 EE

what is meant by the law of increasing costs? S‘{_,lfbfc_,_;lwg,c,ﬁ, /"’GL’J 5 Gv)

Lt 2 2 2313w T 3y G P et L P S i S g i

e bl 2 i e P

when the [?roduction process is under the law of dfminishing returis i.c. marginal production falls
' them marglanl cost per unit increases. That's why the law reduction gain is also called the law of
jncreasing cost.

what is meant by internal economies of scale? Tla.i'/l‘(;.uili’ﬂ’ l)!,(}u!l v)
-~ WU h((}’ blldass U-'-; Wloos b bssbe pasmtvicsis 8 S GJ( > KA

enefit which are related to a particular business and cannot be availed from other businesses are

lled internal i le. - . 3 > %
calle (o economics scale te ) lf TR ey -5 S 4 ”Zf' 5 i)

- i .
pifferentiate between normal loss and abnormal loss of firm.

ryos 1 . " P . .

p4 KJ/W-::'*-,A{—dﬂLS‘J/'J; o bfwwq‘,m{mg AR SRR Y POy B T P L L)

' Y AT Y S Y S | 5 P

L P e Snan & S\ L e e Bndbemr QISumIL (7 S

LA IS e brs L SNz OB sl & st g S
Normal loss: The firm is meeting its variable expenses and is also partially meeting certain
expenses. When a certain part of the expenses is borne in the form of loss, this loss is called normal
loss. . T ,
Abnormal loss: This is a state of equilibrium in which the price is equal to the average variable cost

of the firm. That is, only the variable expenses of the firm are met and the loss of the firm is equal to

the total fixed expenses. This loss is called Abnormal loss. - g Tl P
Does a monopolist firm always gain abnormal profit? Tc‘-dlfdl/d)"’ /_’..‘)..{r/ﬁ:ulgll[ (vii)

ApeelSmed vlic olidE Gunbid g1ty /uite b’(/'uuf/z:’u:dmuw (AR
: _‘atu/d l‘/d}"’

In monopoly, the employer does not have to compete with any other firm so it is generally assumed

that the monopolist makes extraordinary profits by recciving the maximum value of his goods.

. | LS fet e S et i)

Write down four characteristics of land as a factor of production.

-‘L.-_UJ/;’J—'J 3" -‘L”.Afyj(!c}:}. -1 I
L e WL SR S s 4 Belusra Sl tia andi 3
1. Land supply is limited. 2. Land is a natural gift.

3. Geographically, the earth is not pdrtable. 4. Different parts of the earth vary in fertility. -
| Sl i endS i P )
Write down four factors of enhancing mobility of labour.
JJ’&.’JKU -4 JLAVK?’ -3 (JL:"KJL"G -2 JU)J"K -1 o2
L. Speed of work 2. Utilization of raw material 3. Quality of the product 4. Cost of production

6x2=12 S fen iz e S st

Write short Answers of any six parts from the following: " h L g
Define net national product. ’ -L{f-—!.‘/"&b'&d ¥ 0]

-‘LJ[?!?J’&U’JLi_f'_d;gfj‘};‘j_',t?é—)d5'(L/;U’(;’f;)&?’j’&d/)&ﬁ(!’é.t/c_wjl,%d;ipl;ﬁ :‘.""z
| J;U’Lﬁ}’/’ - J’J’&d}r‘l} = jl,l&d}ud(;

educted from GDP. So the net national product
Depreciation Allowance

What is meant by transfer payments? ?c‘:-J’/L&:-U&g bISE (i)
S BRI A SR S 532

hout hardwork, such as unemployment

Gross national product is obtained if capital expenditure is d

T’an3fer payments are money that a person receives wit
dllo i ion, stipend, gifts etc.
~wance, zakat, charity, pcn? , Stip g
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What is meant by multiplier? g feplie . L |
. ‘ . -

. 5 . S - ’ 1 - . ) (‘.‘ ?
u_cg,s’:tf.gc;-‘aggnd' b"u()ﬁdua,d/utdzb’:,t/nlq.t'(gn.iull'f"d(ufdi'é’—JU’JdM.L /s jt
| ‘ =y

“ . ATl B L ¥Ry
] -L{_tg‘{g/bc-'f—d’v.ﬁ"fd“'wgc_&;
ncreasing in i v pe .o o
o cz;Slng In investment multiplics income and decreasing in investment multiples jp '
. . g . . . . m
erefore, the change in the income from the change in investment is called multiplier. i

What is meant by bill of exchange? ) ' T‘-"/V(GG}« (i
R 9y | TSR g
o Ju.(adtgJ_-f_l,,d/u"ffu‘ffﬁuu,w“;m%é.ﬂ;?/gf‘a»»tf Sefbsr e liShn sy,

b SIIE FL e L et M,

A bill of exchange is an unconditional written order signed by the complicr and inslructing
- . - - - - a
particular person to pay a certain amount on demand or after a certain period as per his or her order

el = e

-

What is meant by a crossed cheque? | T e Lyt )
Antaf Gl Lt L S tn Ut L J”w..._& 3t Ewss fm’bn;u_fgw 2 7
e Qe le il G

The amount written on this cheque is not paid in cash but this cheque is deposited in the account of »
the person in whdse name the cheque is issued ‘and then the money is withdraw through the bearer #
cheque. R

Define inflation. ' il f..gf&w)u i)
-é.t‘IgL;CJLl/.”:_J?ﬁpKALtffk))//l.;"(u;f&l_/‘l.g ot B

When commodity prices continue to rise sharply it is called inflation. : ¥
What is meant by recession? ?c;_:l/l_fc_:»’-l/wuy (vii) d
-Ur .';'."./ d:‘/:/&.:?’-'/c.fc‘,(ﬁ.l/ Le e c?-@»éidluméa.médl;iy O W e

When the economy gocs from a period of complete prosperity to a period of complete depressionis i

called recession.
, g il (i) i
-U.?J%J’!&LJV:_/»;@_f;,ijj,,‘f;,(“,;,,?,,./c_'__./u,’” M
Imports are the value and volume of goods and services that are imported from other countries. |
What is meant by indirect tax? : "‘.-"'/':.'(‘:- ng‘ ) @)
_\fg?'fﬁm:'_tlk(fgubpug_j";,j’z,’J‘,;‘_ﬁ,,d’n’(u{fﬁfu, (M

A tax which cannot be transferred by the person on whom it is applied is called direct tax €. income 1

Define imports.

tax. |
: (r»/’) : 3

..u_’f.:w&:&:«%’f“ﬁd b)@{#}&gl}@ufukJ /Lyf){@ %:

Define Prof. Robbins definition of Economics and explain its main points? > W
_g‘ga.:;d/rlfiij;lu!h(yD,JJ‘(,/_'{‘;}]F 6 <

_ Explain the law of increasing return with the help of schedule of diagram. *5?1
A'I

i) /(a..g}f; -2 L'u(,( Salslxg F‘{d}’

Explain in detail the theory of Marginal Productivity. .o
-;Gyklﬁ‘ﬂ?q.)’/ga/}b'/’ l

What is meant by Inflation. Explain its causes.

Define Cannon of taxation. , - /. Ul Il M
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